[ P —




1/
TS AN

ad ,’bl

NR\ LNV (C?m . MgeA Mlaouvc 22/3.1

)
VAR = foo— 22,37 = % ¢




BWOFL'\(\L OFPr on PRI/ & oLey -

595 = - w=%

Sk (50 T 70
T blgll;:é_@&“b(&:i>:%
“/ By
eord A2 £0
P~ 0 \
. M((S’%)a
L M



P2 e Bfg Rk kBT it Ao@ABILI nes -

Q/ [I’“ ZM—I-WLCOL:(






__F/M— = f\UL = YTRTS i ces

_P/d(._- = (\D - eub @
a Ao <
@ A+ ©

(o<, G hulurhi




& METHOD :
@Vé \A SWJCKI el ("d |

(OV\‘I‘FDL{O = AS — C:
_<M_ -
tA%Sb’O \
B0 - 485 A N O

(i3
(orrr vt ™ = 0¥ (]G = LYo




PDLFF AY NNE é? = %[]‘,%D _ %e\Aﬁ

/(/Oé

%519 = NS = C (= %549 707650
T |

C= 312’6



L

N\ KoK @
BorD Y



Ny a5 FNe N06 =

(AR BY Re Ll

— ™ : —
55 106 I
&ng /] Déj [/\/Z,

L)‘

O

b

5

(ALl Rice = A 5OJ,-N2_ @wo =13.26



- (/H’g- ol




[WCTIERID  BiadlLRL llops /-







